



姓名: \_\_\_\_\_

日期: \_\_\_\_\_ 分数: \_\_\_\_\_

$$\left(-\frac{1}{6}\right) - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{2}\right)^3 - \frac{1}{3} =$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{3}{4}\right) + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{2}{5}\right)^2 + \frac{3}{4} =$$

$$\left(\frac{1}{6}\right)^3 + \frac{1}{4} =$$

$$\left(-\frac{2}{5}\right) - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{4}\right)^3 - \frac{2}{5} =$$

$$\left(-\frac{1}{4}\right)^3 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{3}{5}\right)^3 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{5}\right) - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{2}{5}\right)^0 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{3}{4}\right) + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{6}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{4} =$$

$$\left(\frac{1}{5}\right) + \frac{1}{2} =$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{3} =$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{5}\right)^2 + \left(-\frac{1}{2}\right) =$$



姓名: \_\_\_\_\_

日期: \_\_\_\_\_ 分数: \_\_\_\_\_

$$\left(-\frac{1}{6}\right) - \left(-\frac{3}{4}\right) = \frac{7}{12}$$

$$\left(\frac{1}{2}\right)^3 - \frac{1}{3} = \left(-\frac{5}{24}\right)$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{3}{4}\right) = \left(-\frac{161}{216}\right)$$

$$\left(\frac{3}{4}\right) + \left(-\frac{1}{6}\right) = \frac{7}{12}$$

$$\left(\frac{2}{5}\right)^2 + \frac{3}{4} = \frac{91}{100}$$

$$\left(\frac{1}{6}\right)^3 + \frac{1}{4} = \frac{55}{216}$$

$$\left(-\frac{2}{5}\right) - \left(-\frac{1}{2}\right) = \frac{1}{10}$$

$$\left(-\frac{3}{4}\right)^3 - \frac{2}{5} = \left(-\frac{263}{320}\right)$$

$$\left(-\frac{1}{4}\right)^3 - \left(-\frac{3}{4}\right) = \frac{47}{64}$$

$$\left(-\frac{3}{5}\right)^3 - \left(-\frac{1}{3}\right) = \frac{44}{375}$$

$$\left(\frac{1}{5}\right) - \left(-\frac{1}{2}\right) = \frac{7}{10}$$

$$\left(\frac{2}{5}\right)^0 + \left(-\frac{3}{4}\right) = \frac{1}{4}$$

$$\left(-\frac{3}{4}\right) + \left(-\frac{2}{5}\right) = \left(-\frac{23}{20}\right) = \left(-1\frac{3}{20}\right)$$

$$\left(\frac{1}{6}\right)^2 - \left(-\frac{1}{5}\right) = \frac{41}{180}$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{17}{36}\right)$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{4} = 0$$

$$\left(\frac{1}{5}\right) + \frac{1}{2} = \frac{7}{10}$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{3} = \frac{43}{48}$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{2}{5}\right) = \frac{14}{25}$$

$$\left(\frac{3}{5}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{7}{50}\right)$$